(1) INEEHUN T (N EEER1-2)

(B BHH. %)

FE
zé,ig 2(23;5 20 | s0&EE | 3iEE | &E

X 7

1. E % I I a 981.9 1,061.8 1,080.8 1,125.2 1,156.0 1,206.3
g | (1) ¥ & 1 A 874.0 952.2 969.4 1,0135 1,042.1 1,088.9

2 % ) ith 107.9 109.6 1114 111.7 113.9 1174

Db it & & A B & 34.2 34.0 34.0 34.0 34.0 34.0

2. E % N I %% 259.9 270.2 270.4 2435 229.3 227.0

() hEstaEe-MbE 189.6 204.4 205.6 194.3 186.0 184.6

@ B (8 ) # B £

@ EHmMEZTEEREA 59.6 54.2 53.0 36.9 30.7 29.2
Al @ % M it 10.7 11.6 11.8 12.3 12.6 13.2

% w IR # (A 1,241.8 1,332.0 1,351.2 1,368.7 1,385.3 1,433.3
%1 B * =1 B b 1,323.3 1,449.4 1,460.6 1,444.8 1,433.8 14423

MmBE & K 5 ZE c 742.4 815.1 823.0 800.6 808.4 816.2

(2 # # & 116.7 158.7 160.6 163.1 167.4 174.6

(3) #¥ & 269.6 283.9 282.2 289.0 293.7 301.5

4 B @ & #! = 186.5 190.1 192.9 190.2 162.5 148.0

5) % D ith 8.1 1.6 1.9 1.9 1.9 1.9

2. E % o & H 39.3 405 41.2 42.4 43.1 44.4

1 % h 1 2 7.9 7.9 8.0 7.9 7.6 7.4

2 % D ith 314 32.6 332 345 355 37.0
Hi % ) & F B) 1,362.6 1,489.9 1,501.8 1,487.2 1,476.9 1,486.7
# 8% 8 & (A—B) (C) A 1208 A 1579 A 1506 A 1185 A 916 A 534
(1. 4% Al 1l #® (D) 2.1 0.0 0.1 0.1 0.1 0.1
1; 2. Al i} % (BE) 25.6 14.2 0.0 0.0 0.0 0.0
&% B 8 & (D)—(E) (F) A 235 A 142 0.1 0.1 0.1 0.1
i #B = (C)+(F) A 1443 A 1721 A 1505 A 1184 A 915 A 533
3 i x B £ (@) 540.7 712.8 863.3 981.6 1,073.1 1,126.4

i g = E 7 1,548.6 1,587.5 1,598.6 1,563.8 1,523.7 1,458.2
Tz g a ' « 203.5 204.0 203.7 204.0 204.0 204.0
B > b — BF EF A %

2 5 E B 8 B RO 1,345.1 1,383.5 1,394.9 1,359.8 1,319.7 1,254.2
ﬁ%ﬁﬁﬁﬁ%ﬁf*%} (1)
% X li;F E% TEEOD ?E

£l 4)_(1)}_@ )_(,7;’} ) 0.0 0.0 0.0 0.0 0.0 0.0
® % I X kb o= ((g)) X 100 91.1 89.4 90.0 92.0 93.8 96.4
*F B B B EL;MOO 0.0 0.0 0.0 0.0 0.0 0.0
E ¥ IR X H = z X 100 74.2 73.3 74.0 77.9 80.6 83.6
BEHREEXNELINS LR : X 100 75.6 76.8 76.1 71.2 69.9 67.7
%fggﬂéfuﬁg1%1i1%§§s1 = (H) 0.0 0.0 0.0 0.0 0.0 0.0
E & F B H E—5—x100 0.0 0.0 0.0 0.0 0.0 0.0
I R | F b 62.5 54.2 55.4 83.9 84.9 92.0

12




(2) BRI

(B BhaM)

R zé,ig 2(?5‘ 20fEfE | 30%E | 1EE | &
X 5
1. 1#© * & 118.6 149.3 51.2 33.0 30.0 30.0
2.t = FH O H #E £
3. 1 = FH & #H £
Baw 2 = B8 A =
5. . &= & ® B £
6. ( B ) # B =
7. % ) ith
= A Ft (a) 118.6 149.3 51.2 33.0 30.0 30.0
ABBPEFA%&:W_M(L* )
X & 0B R FE 4 O
AEEHTETCEFEEGAD (o)
#iEt(a)—{b)+(c)} (A) 118.6 149.3 51.2 33.0 30.0 30.0
1. & B G B & 121.6 152.0 51.6 33.0 30.0 30.0
X, & 2 & @B B 2 353 47.0 49.0 67.3 51.0 48.6
3. MEdREBEBAERESR
wla % ) fth
* HH Hi (B) 156.9 199.0 100.6 100.3 81.0 78.6
=5 & B & B)—(A) (®)) 38.3 49.7 49.4 67.3 51.0 48.6
- 1. 8 % EJJ T B R E &£ 383 49.7 49.4 67.3 51.0 48.6
<2 M & B KR & L H #E
B B B I E B £
E'Jg 4. % %) fth
it (D) 38.3 49.7 49.4 67.3 51.0 48.6
HTCAMBETREEE (©—D) (E) 0.0 0.0 0.0 0.0 0.0 0.0
ZEEREFBETEXKEA (F)
X F ® % 7 0O %
EE BRI EHE (E)—(F) 0.0 0.0 0.0 0.0 0.0 0.0
B) —RSFHEICDBAETDRAEL
(Bfr-B\AaA)
. FE gﬁg 2(?5{ 20 | 30FEE | JEE | NEE
IR # 8 IR X 223.8 238.3 2395 228.2 220.2 218.9
H X B IR X
a Hi 2238 238.3 2395 228.2 220.2 218.9

13




